Fill in this in	formation to identify the case:
Debtor 1	Morgan Administration Inc
Debtor 2 (Spouse, if filing)	
United States	Bankruptcy Court for the: Northern District of Illinois
	18-30039

FILED UNITED STATES BANKRUPTCY COURT NORTHERN DISTRICT OF ILLINOIS
NOV 05 2018

JEFFREY P. ALLSTEADT, CLERK TEAM - CA

Official Form 410 Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the Claim

1.	Who is the current creditor?	Value Merchandise International Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor VMI LLC							
2.	Has this claim been acquired from someone else?	☑ No □ Yes. From whom?							
3.	Where should notices and payments to the creditor be sent?	Where should notice Wendall Westber		r be sent?	Where should different)	payments to the credito	er be sent? (if		
	Federal Rule of Bankruptcy Procedure	Name			Name				
	(FRBP) 2002(g)	13100 12th Ave							
		Plymouth		55441	Number Street				
		City	State	ZIP Code	City	State	ZIP Code		
		Contact phone 763-27	7-8568		Contact phone				
		Contact email WWest	perg@valuem	erch.com	Contact email				
		Uniform claim identifier fo	r electronic paymer	nts in chapter 13 (if you u: 	se one): 				
4.	Does this claim amend one already filed?	☑ No □ Yes. Claim numbe	er on court claims	s registry (if known)		Filed on	D / YYYY		
5.	Do you know if anyone else has filed a proof of claim for this claim?	☑ No☑ Yes. Who made the	ne earlier filing?						

Do you have any numl you use to identify the debtor?	Per ☑ No □ Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:
How much is the claim	? \$ 107011.90. Does this amount include interest or other charges? □ No
	Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).
What is the basis of the claim?	
	Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c).
	Limit disclosing information that is entitled to privacy, such as health care information.
	Goods sold 106,189.40 and freight 822.50
Is all or part of the clair secured?	No Yes. The claim is secured by a lien on property.
	Nature of property:
	Real estate. If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim
	Attachment (Official Form 410-A) with this Proof of Claim.
	Other. Describe:
	Basis for perfection:
	Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)
	Value of property: \$
	Amount of the claim that is secured: \$
	Amount of the claim that is unsecured: \$(The sum of the secured and unsecured amounts should match the amount in line 7
	Amount necessary to cure any default as of the date of the petition: \$
	Annual Interest Rate (when case was filed) %
	G Fixed
	Variable
s this claim based on a lease?	Mo No
16436 :	Yes. Amount necessary to cure any default as of the date of the petition.
Is this claim subject to a	No No
right of setoff?	Yes. Identify the property:
	y se history.

2. Is all or part of the claim entitled to priority under	Mo	
11 U.S.C. § 507(a)?	Yes. Check one:	Amount entitled to priority
A claim may be partly priority and partly	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
nonpriority. For example, in some categories, the law limits the amount entitled to priority.	□ Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
	 Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4). 	\$
	□ Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
	Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
	□ Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or aft	er the date of adjustment.

The person completing this proof of claim must

sign and date it. FRBP 9011(b).

is.

3571.

If you file this claim electronically, FRBP

A person who files a fraudulent claim could be

fined up to \$500,000,

imprisoned for up to 5 years, or both.

18 U.S.C. §§ 152, 157, and

5005(a)(2) authorizes courts to establish local rules specifying what a signature

Check the appropriate box:

I am the creditor.

□ I am the creditor's attorney or authorized agent.

I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.

I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.

I understand that an authorized signature on this *Proof of Claim* serves as an acknowledgment that when calculating the amount of the claim, the creditor gave the debtor credit for any payments received toward the debt.

I have examined the information in this *Proof of Claim* and have a reasonable belief that the information is true and correct.

I declare under penalty of perjury that the foregoing is true and correct.

Executed on date DF Signature

Print the name of the person who is completing and signing this claim:

Name	Michael Keith Jacobson							
	First name	Middle name		Last name				
Title	President/Owner							
Company	Value Merchandise International							
		ervicer as the company if the au	0					
	13100 12th Avon							
Address	13100 12th Aven							
Address			MN	55441				
Address	Number Street		MN State	55441 ZIP Code				

Case 18-30039 Claim 13-1 Filed 11/05/18

Desc Main Document Page 4 of 13



13100 12th Ave N Suite C Plymouth, MN 55441

P: 763-450-1700 F: 763-450-1708 www.valuemerch.com

Notice of Payments Due

October 30, 2018

To: US Bankruptcy Court - Northern District of Illinois - Eastern Division

Please find attached invoices outstanding along with Bill of Lading for Morgan Administration Inc (DBA HOBO Warehouse) as of October 30, 2018 (detailed below):

INV28737	\$66,120.00	Due 09/20/2018
INV28799	\$2,599.60	Due 10/10/2018
INV28800	\$26,379.80	Due 10/10/2018
INV28801	\$9,093.00	Due 10/10/2018

In addition, we are submitting freight backhaul expenses of \$822.50 per attached.

Sincerely,

Michael Jacobson President/Owner Value Merchandise International 13100 12th Ave Plymouth, MN 55441 763-450-1700 <u>Mike@valuemerch.com</u>



Value Merchandise

Industry Leader in Closeouts!

Value Merchandise International 13100 12th Ave N, Suite C Plymouth MN 55441 United States 763-450-1700

> Bill To Hobo Warehouse Accts. Paya... 2650 Belvidere Rd Waukegan IL 60085 United States

Ship To Hobo #47 7557 S. 78th Ave. Bridgeview IL 60455 United States

Invoice

Date	8/21/2018
Invoice #	INV28737
PO #	n000020823
Created From	Sales Order #SO6472
Terms	N30
Freight Terms	
Due Date	9/20/2018
Ship Date	8/21/2018
VMI Shipping Carrier	
Sales Rep	Jay Chawla

Dissistration					Prifes.	Altroubl
		2	332	664	40.00	26,560.0
2 In 1 Digital Tower Heater and Cool Mist Humidifier 35 In	China	2	430	860	46.00	39,560.0
				er som en er		
			and experiments at the new solution			
		er honor, ein seine gester sonsten sons				
		 Vertile ()			nin deriti karandar nadar	
		Over one of the second s	an son and a son and a son and a son and a son a son as a			
			enninkelse vicioniste sommer og som en			
			an officers) second of the foreign	e.		
			da da rem series e Paralegado, e normale e reserva	n a the Shine of the Annual Market Shine of the Annual Market		
	Crane Ceramic Tower Smart Heater Black 2 In 1 Digital Tower Heater and Cool Mist Humidifier 35 In	Crane Ceramic Tower Smart Heater Black China	Crane Ceramic Tower Smart Heater Black China 2	Crane Ceramic Tower Smart Heater Black China 2 332	Crane Ceramic Tower Smart Heater Black China 2 332 664	Crane Ceramic Tower Smart Heater Black China 2 332 664 40.00

Thank you for your business. # of cases: 762

of pallets: 46 (shipped on 2 trucks on 8/20 & 8/21)

Total

\$66,120.00

Case 18-30039 Claim 13-1 Filed 11/05/18 Desc Main Document Page 6 of 13 Date BILL OF LADING Page _____

Veder work American Mede	0 0 74	ത്ത്ര	ጣጠነወ ‹	SHIP FROM	<i>A</i>				A CONTRACTOR OF CONTRACTOR OF CONTRACTOR	A Annual State of the second	Page	5/1/ / / / / / / / / / / / / / / / / / /
	AU	<u>Ģ-2`1</u>	2010	Value Mer	S	dise	No presidente a desta contra constituit e de la la constituit e de la constituit e de la constituit de la const	Bill o	f Lading	Number: SO	6472	
				00 12th Av								
				Plymouth, N								
SID N	0.1	- 100-10 C Index of 1 (- 100-11 (- 100-11 (- 100-11	1995 of the International Construction of the American American Street Street Street Street Street Street Street	763/450)-1700)				151 (653	a Station	
and the second second		1997 - A. 1	CANANARA CONTRACTOR COMPANY	SHIP TO	11 4 55			Carrie	Name:	an and "Carlonder Cyrain of Song Carlon, Stat Januar about stations, second com-	-	Annotane in Annotane (and a family of an annotane of an annotation (family call in the second of a manufacture of a
				Hobo				and the local		Online Frei	ignt Solutio	ons
				7557 S 78				1	number:		Trailor i	1185
			DI	ridgeview	1L 60	1455		Serial n	umber(s):		11011104 1	
CIDN	NO:										Soal #	1520817
		THIRD	PARTY FF	REIGHT CH	ARGE	S BILL TO		SCAC:	ANY STATUS \$10.00 provide by the community of	an a	HECH A	- J & U & I
								Pro Nun	nber:			
										Gerüssi	aspear	
nocir	al Trate		- 4	ann ann ann a sa a' an Aonaichte ann a' ann ann agus	9 Berlin (1997), a 1 Saaaa		Anno ann an cuir fhann Ann an cuir an c		e de sur su dans portante dans provente universi angen			2
peua		uctions:						Freight	Charge	Terms (Freight ch	arges are prepaid	unless marked otherwise):
								a () a magnetic		Prepaid X	Collect	3rd party
n 4016 (r. 1 - 160 (n	and an or physical series of Maryl Agestration 1 - 1	nin b-ensiste bright av av						D Mast	er bill of la	ding with attache	ed underlying h	ills of lading
			A fabultation participation			CUS	STOMER OR	DER INF	ORMATI	ON		A real contraction of the second s
ustor	mer Orc	ler No.			# 0	f Packages	Weight		t/Slip			99999), hand all an
	200	002002	0 - T				weight	(circl	e one)	A	dditional Shij	oper Information
PO #	+		3-a Truc	1		233	7728	Y	N	16 Palle	atc	1997 - 1 Amerika Balansand, munis intersystemine, anter de anter de anter a site advarde, more des menes super
PO #	Palle #	215 31-4	6 of 46	total	Construction of the Southand	NAME AND ADDRESS OF A DESCRIPTION OF A D				10 Faile	:15	
PO #		ana 'ny salah desirahanany ny sira (na kana a	Contraction Contraction (see a feature and see	*****	1000.0.000.000.000.000.000			Y	N		***	•
	Total		han an a		Ni bali kwa kwa mia way nany	233	7728	Y	<u>N</u>			
40.00 00000 (10.000000)).	Alath Mark County County States and	en ann a' dhùnach Meit anns, ann a' anna	an ann anns a' anns a' anns an anns an a		n letter bit och nen som setter det som	233	1120]		16 Palle	ts	and a subscription of the
andli	ing Unit	Pacl	kage	nade : 1970a, philosophie, parameter aproximitante a		Annual of States and States and States and States and A. L. S. S.	na kala kana tana ta jarang kana kana kana kana kana kana kana k					
			l									LTL Only
У	Type	Qty	Туре	Weight	HM	Commodity					NMFC No.	Class
		Name of State States (States)	1		(X)	Commodities rea	uiring special or	additional ca	re or attentio	n in handling or e transportation with		
		ļ				ordinary care. Se	e Section 2(e) of	f NMFC item	360	e transportation with		
and the second			N(mar) () (mar)					an a	n Billinder for in de de linn dataine anna channa anna an anna an anna an anna an anna anna an an	n Anna an Anna Anna Anna Anna Anna Anna		
5 PA	ALLET	233	BOX	7728		Novelties	í.					70
	Annual costs accounts a chamber of a de											1,0
				1							an a	
	9,98,99,9899,9899,9999,9999,9999						R ^{ra}	6 <i>6</i> 6		· FOFOF A	88 888	
	1,743.3),944 (<mark>1119),944 (1119),944 (1119)</mark>	anna i fan sen in san sen yn sen yn s						001	TOV	BREA	KSK	IDS
	9,90 (),90 (na atta a filla - agus anns an san an a										
		anna a bhannann an san san san san san san san sa								' BREA Es Wi		IDS PLY
5 PA	ALLETS	233	BOXES	7728								
re the r	rate is depe	endent on va	lue, shippers	are required to s	itate spe	cifically in	P	ENA				
re the r	rate is depe agreed or c	endent on va leclared valu	lue, shippers a	are required to s	"The agr	bordardarad	P					
re the r	rate is depe agreed or c	endent on va leclared valu s specifically	lue, shippers a	are required to s	"The agr	bordardarad		ENA	\$	ES WI		PLY
re the r	rate is depe agreed or c property is per	endent on va leclared valu s specifically	lue, shippers a ue of the proper stated by the	are required to s erty as follows: " shipper to be no	"The agr ot excee	eed or declared ding	COD A Fee ter	Amount:	\$ ct □ Pr	ES WI	mer check acc	
re the r ng the a e of the	rate is depe agreed or c property is per	endent on va leclared valu s specifically ote: Liab	ilue, shippers a le of the prope stated by the ility limit	are required to s erty as follows: " shipper to be no cation for lo	"The agr ot excee DSS OF	eed or declared ding damage in t	COD A Fee ter	Amount:	\$ ct □ Pr	ES WI	mer check acc	PLY
re the r ng the a e of the ved, sub	rate is depe agreed or o e property is per No bject to indin ng between	endent on va leclared valu s specifically ote: Liab vidually deterr the carrier an	ilue, shippers a ue of the prope stated by the bility limit mined rates or a d shipper, if an	are required to s erty as follows: " shipper to be no cation for lo	"The agn ot exceen OSS OF	damage in t	COD A Fee ter	Amount: ms: Colle nt may t	\$ ct □ Pr be applica	ES WI epaid Custo able. See 49 US	omer check acc C § 14706(c)	PLY eptable [] (1)(A) and (B).
re the r ng the a e of the ved, sub in writin fications	rate is depe agreed or c e property is per N c bject to indiv ng between s, and rules i	endent on va leclared valu s specifically ote: Liab vidually deterr the carrier an that have bee	blue, shippers a le of the prope stated by the bility limit mined rates or o d shipper, if ap en established b	are required to s erty as follows: " shipper to be no cation for lo contracts that have pplicable, otherwis with carrier and	"The agn ot exceen DSS OF we been a se to the r	damage in t damage in t agreed rates, able to the	COD A Fee ter this shipme	mount: ms: Colle mt may E t make deli	\$ ct □ Pr be applica	ES WI epaid Custo able. See 49 US	omer check acc C § 14706(c)	
ved, sub in writin fications, er, on re	rate is depe agreed or c e property is per No bject to indi- ng between s, and rules t equest, and	endent on va leclared valu s specifically ote: Liab vidually deterr the carrier an that have bee to all applicat	lue, shippers a le of the prope stated by the ility limit mined rates or o d shipper, if ap an established b ble state and fe	are required to serve a serve as a follows: " shipper to be not cation for lc contracts that have pplicable, otherwise by the carrier and deral regulations.	"The agn ot exceed OSS OF ve been a se to the r are availa	damage in t agreed able to the Ship	COD A Fee ter this shipme carrier shall not	mount: ms: Colle nt may t t make deli ure	\$ ct □ Pr be applica	ES WI epaid Custo able. See 49 US	omer check acc C § 14706(c)	PLY eptable [] (1)(A) and (B).
ived, sub in writin fications, er, on re	rate is depe agreed or c e property is per No bject to indi- ng between s, and rules t equest, and	endent on va leclared valu s specifically ote: Liab vidually deterr the carrier an that have bee	ilue, shippers a te of the prope stated by the bility limit mined rates or a d shipper, if ap an established b ole state and fee	are required to service a solution of the service of the service and the solution of the solut	"The agn ot exceed DSS OF ve been a se to the r are availa	damage in t agreed able to the Ship	COD A Fee ter this shipme	mount: ms: Colle nt may t t make deli ure	\$ ct □ Pr be applications very of this	ES WI epaid Custo able. See 49 US	omer check acc C § 14706(c)	PLY eptable [] (1)(A) and (B).
ved, sub in writin fications, er, on re	rate is depe agreed or c e property is per No bject to indi- ng between s, and rules t equest, and	endent on va leclared valu s specifically ote: Liab vidually deterr the carrier an that have bee to all applicat	ilue, shippers a te of the prope stated by the bility limit mined rates or a d shipper, if ap an established b ole state and fee	are required to serve as follows: " shipper to be not cation for loc contracts that have pplicable, otherwise by the carrier and deral regulations.	"The agr ot exceed OSS OF ve been a se to the r are availa	damage in t damage in t agreed able to the Freig	COD A Fee ter this shipme carrier shall not	mount: ms: Colle nt may t t make deli ure	\$ ct □ Pr be applications very of this	epaid Custo able. See 49 US shipment without p	omer check acc C § 14706(c) Dayment of charg	PLY eptable [] (1)(A) and (B).
ved, sub in writin fications er, on re	rate is dependent agreed or c e property is per No bject to india ng between s, and rules i equest, and Signatu	endent on va leclared valu is specifically ote: Liab ridually deterr the carrier an that have bee to all applicat ire/Date	illue, shippers a le of the prope stated by the bility limit mined rates or r id shipper, if ap ne stablished b ble state and fer - 2.1 - 1{ materials are	are required to service a solution of the service as a solution of the service as a solution of the solution o	"The agricological and a second exceed on the second exceed on the second exceed and the second exceed and the second exceed and the second exceeded a	eed or declared ding damage in 1 agreed able to the Freig By By By	COD A Fee ter this shipme carrier shall not oper Signatu ght Counted y shipper y driver/pallet	Amount: ms: Colle nt may t t make deli ure d:	s ct Pr be applicativery of this Carrier	epaid Custo able. See 49 US shipment without p r Signature/Pic	omer check acc c § 14706(c) bayment of charg	eptable (1)(A) and (B). es and all other lawful fees.
ved, sub in writin fications er, on re pper	rate is depe agreed or c e property is per No bject to indii ng between s, and rules t equest, and Signatu sift that the e infield, packag condition for	endent on va declared values specifically ote: Liab vidually detern the carrier and that have bee to all applicat ure/Date boot hamed ped, marked, , transportatio	illue, shippers a ie of the prope stated by the bility limit mined rates or a d shipper, if ap en established bio le state and fee - 2.1 - 15 materials are and labeled, an	are required to service a solution of the service as a solution of the service as the solution of the solution	"The agricological and a second exceed on the second exceed on the second exceed and the second exceed and the second exceed and the second exceeded a	eed or declared ding damage in t agreed rates, able to the Freig D By	COD A Fee ter this shipme carrier shall not oper Signatu ght Counted y shipper y driver/pallet	Amount: ms: Colle nt may t t make deli ure d:	s ct Pr e applica very of this Carrier Carrier acd response i	epaid Custo able. See 49 US shipment without p r Signature/Pic mowledges receipt of nformation was made	omer check acc C § 14706(c) bayment of charge ckup Date mut packages and require	eptable (1)(A) and (B). es and all other lawful fees. ed placards. Carrier certifies emergence recently recently the point emergence recently and the point emergence recently the point emergence recently the point emergence recently and the point emergence recently the point
ere the r ing the a e of the ived, sub in writin fications eer, on re pper s to certii rty classi proper co	rate is depe agreed or c e property is per No bject to indin g between s, and rules t equest, and Signatu	endent on va declared values specifically ote: Liab vidually detern the carrier and that have bee to all applicat ure/Date boot hamed ped, marked, , transportatio	illue, shippers a le of the prope stated by the bility limit mined rates or r id shipper, if ap ne stablished b ble state and fer - 2.1 - 1{ materials are	are required to service a solution of the service as a solution of the service as the solution of the solution	"The agricological and a second exceed on the second exceed on the second exceed and the second exceed and the second exceed and the second exceeded a	damage in t agreed able to the black	COD A Fee ter this shipme carrier shall not oper Signatu ght Counted y shipper y driver/pallet	mount: ms: Colle nt may t t make deli ure d: ts said to		epaid Custo able. See 49 US shipment without p r Signature/Pic mowledges receipt of nformation was made	omer check acc C § 14706(c) bayment of charge ckup Date mut packages and require	eptable (1)(A) and (B). es and all other lawful fees.

	° C	Case	18-30	039 C	D(D N C	Filed 11/ B	R		c Main Doo	cument	Page 7 of 13 □ JS □ JC □ JG □ MJ Date
្រៀa ក្រ	AUG	j 2.0 2	2018	SHIP FROM		ILL OF	LADIN			. A more part with the entropy and the part of the second state of the second state and the	Page _	2 - 2 - 2
SID			131	Value Mer 00 12th Av Plymouth, I 763/450 SHIP TO	chano ve N., VN 55	Suite C 5441		Bill	of Lading	Number Soal	# 152	3337 10815
CID	No:			Hobo 7557 S 7 ridgeview	8th A			Traile	er Name: number: number(s)	Online Frei	ight Soluti	ons
		THIRD	PARTY FI	REIGHT CH	ARGE	S BILL TO	ar na tanàna mina kaominina dia kaominina dia kaominina dia kaominina dia kaominina dia kaominina dia kaominina	SCAC	N-starsenant variosissississississis	nan 1999 - Amerika alimpi ya Taka kwa waka agama Aliwana ama adama y	and the second second of the second secon	
		v Rossanh kongensi adasi - ili via Assa						Pro Ni	imber:			
Speci	ial Instru	ictions:		ngar tarang sa kanang karang sa Kanang sa	Performante	annon a chuir ann an ann ann ann ann ann ann ann ann	n feld til Aren Mannadon, mi dag har ykk haf, in muner i de er før			Prepaid X	Collect	d unless marked otherwise):
mary sampler	e on freite - forderen som de	99-529 bilgingi rembuusi ya (huu	دور و رو ایندانینی . اینده اینداز این ایند ا	ann an air an	* participa (1)	ISTOMER OR			ading with attach	ed underlying l	bills of lading.
Custo	mer Ord				# o	f Packages	Weight	Pa	let/Slip cle one)	1	dditional Shi	pper Information
PO PO	[#] Palle		3 Truck of 46 to	··· ··· · · · · · · · · · · · · · · ·		529	14872	Y	N	30 Palle	ets	
PO					****			Y Y	N N			*****
Grand	l Total		a , a franka sa sa sa sa sa sa sa			529	14872			30 Palle	ets	
Hand	ling Unit	Pack	cage		*******						1	
Qty	Туре	Qty	Туре	Weight	НМ	Commodi	ty Descriptio	n			NMFC No.	
			1		(X)	Commodities restoring must b	equiring special or a	additional ackaged a	is to ensure sa	on in handling or fe transportation with	NITI C NO.	Class
30 F	PALLET	529	BOX	14872		Noveltie	S					70
	inter, March March II. (m. 1999)			1								
								10	NOT	BREA	K SK	IDS
		19 m - San								' BREA ES WI		
	PALLETS	529	BOXES	14872								
here the	e rate is depe e agreed or c ne property is per	endent on va leclared valu s specifically	lue, shippers te of the prop stated by the	are required to erty as follows: shipper to be r	"The agi iot excee	eed or declared ding	COD A Fee ter	mount ms: Col	: \$	repaid Custo	Omer check acc	
here the iting the lue of th	e rate is depe e agreed or c ne property is per	endent on va leclared valu specifically	lue, shippers le of the prop stated by the	are required to erty as follows: a shipper to be r tation for I	"The aginot excee OSS or	eed or declared ding damage in	COD A Fee ter	mount ms: Col	: \$	repaid Custo	Omer check acc	PPLY
nere the iting the ue of the reived, s in in writ isification	e rate is depe e agreed or c ne property is per Nc hubject to indiviting between ns, and rules t	endent on va leclared valu s specifically ote: Liab ridually detern the carrier an that have bee	lue, shippers te of the prop stated by the ility limit mined rates or d shipper, if ap the stablished l	are required to erty as follows: shipper to be r	"The aginot excee OSS OF we been a se to the	damage in agreed rates, able to the	COD A Fee ter this shipme	mount ms: Col nt may	: \$ lect □ P be applic	repaid Custo rable. See 49 US	Omer check acc 5C § 14706(c	
here the iting the lue of the ceived, s on in writ ssification pper, on tippe s is to ce perly class in prope licable re	e rate is depe e agreed or c ne property is per No ubject to individual solution between ns, and rules is request, and r senatures why that the a ssified, packag	Indent on va eclared values specifically ote: Liab ridually detern the carrier an rhat have bee to all applicat Ire/Date S/C budye I. transportatic he DOT.	lue, shippers te of the prop stated by the ility limit mined rates or d shipper, if ap en established i ble state and fe	are required to erefy as follows: a shipper to be r tation for l contracts that ha pplicable, otherwin by the carrier and celeral regulations the arrier and celeral regulations Trailer Loade (By s and	"The aginot exceed DSS or we been a se to the l are avail d: hipper	damage in agreed able to the able to the Sh Free able to cor	COD A Fee ter this shipme	mount ms: Col nt may make d ire i: s said t	elivery of thi	repaid Custo repaid Custo rable. See 49 US s shipment without cr Signature/Pio Chrowledges receipt of information was made	omer check acc omer check acc of § 14706(c payment of char ckup Date packages and requ available and/or ce	Ceptable Carlos (B).



Value Merchandise International

Industry Leader in Closeouts!

Value Merchandise International 13100 12th Ave N, Suite C Plymouth MN 55441 United States 763-450-1700

> **Bill To** Hobo Warehouse Accts. Paya... 2650 Belvidere Rd Waukegan IL 60085 United States

Ship To Hobo #47 7557 78th Ave Bridgeview IL 60455 United States Invoice

Date	9/10/2018
Invoice #	INV28799
PO #	n000022017
Created From	Sales Order #SO6981
Terms	N30
Freight Terms	FOB
Due Date	10/10/2018
Ship Date	9/10/2018
VMI Shipping Carrier	Schneider
Sales Rep	Jay Chawla

07307BB CH 07212BB CH 8053785 Rig E1029 Wa 500S10PDQ Po	acked Chairs Cover Tan naise Lounge Cover Tan naise Lounge Cover Black ddell NFL Helmet Match Up Interactive splay ooden YoYo in Display Asst Styles oof Brand Standard Football 9.5 in with DQ tio Set Large Round Black	China China China China China United States China	8 6 6 144 10	50 10 10 14 2 72	400 60 84 288 720	4.50 5.50 5.50 10.90 1.00 1.05	1,800. 330. 330. 915. 288. 756.
07212BB Cr 8053785 Rig 51029 Wa 600S10PDQ Po	naise Lounge Cover Black ddell NFL Helmet Match Up Interactive splay ooden YoYo in Display Asst Styles oof Brand Standard Football 9.5 in with DQ	China China China United States	6 6 144 10	10 14 2	60 84 288	5.50 10.90 1.00	330. 915. 288.
053785 Rid Dis 1029 Wa 00S10PDQ Po	ddell NFL Helmet Match Up Interactive splay ooden YoYo in Display Asst Styles of Brand Standard Football 9.5 in with DQ	China China United States	6 144 10	14 2	84 288	10.90 1.00	915. 288.
Dia 1029 Wa 00S10PDQ Po PD	splay ooden YoYo in Display Asst Styles oof Brand Standard Football 9.5 in with DQ	China United States	144 10	2	288	1.00	288.
00S10PDQ Po PC	of Brand Standard Football 9.5 in with DQ	United States	10				
PC	DQ			72	720	1.05	756
7218BB Pa	tio Set Large Round Black	China	_	1		1.05	750.
			6	4	24	7.50	180

of cases: 162 # of pallets: 4

Total

\$4,599.60



Value Merchandise

Industry Leader in Closeouts!

Value Merchandise International 13100 12th Ave N, Suite C Plymouth MN 55441 United States 763-450-1700

> Bill To Hobo Warehouse Accts. Paya... 2650 Belvidere Rd Waukegan IL 60085 United States

Ship To Hobo #47 7557 S. 78th Ave. Bridgeview IL 60455 United States

Invoice

9/10/2018
INV28800
n000021945
Sales Order #SO6825
N30
FOB
10/10/2018
9/10/2018
Schneider
Jay Chawla

and the	ini ÷ctola (stikle)n.		(C)/(P)	Case Q.,	(Ee)(eh)(e/s	Pines.	Annount
S436AST	Head and Neck Mask Camo Asst	China	36	10	360	2.25	810.00
ES432AST	Head and Neck Mask Black Asst	China	36	10	360	1.75	630.00
M631	Mask, Face/Neck, Motorgear, Black Large	China	144	2	288	1.50	432.00
ESM234AST	Face and Neck Mask Asst	China	36	8	288	1.50	432.00
4177	Metal Mesh Waste Basket 14 In Blue	China	12	39	468	2.00	936.00
404927992	Ceramic 14oz Bowl Green 4 Asst	China	32	3	96	1.00	96.00
4049423132	Ceramic 9.5" Square Baker Green	China	4	17	68	3.00	204.00
4049423133	Ceramic 9.5" Square Baker Yellow	China	4	18	72	3.00	216.00
4049883132	Ceramic 10.25" Pan AuGratin Green	China	8	9	72	1.75	126.00
4049883133	Ceramic 10.25" Pan AuGratin Yellow	China	8	9	72	1.75	126.00
EE5303GR	Crane SmartDrop Ultrasonic Cool Mist Humidifier	China	2	144	288	28.00	8,064.00
1145QVCRED	Microwave Cooking Asst Easy Bacon Or Egg Poacher	New Zealand	2	48	96	2.50	240.00
2609	Kitchen Storage Containers with Lids 10 Piece	China	4	21	84	3.00	252.00
2612	Clip Lock Storage Container Set 16 Piece	China	2	42	84	4.00	336.00
DUS3001	Duracell 3.5mm Stereo Headphone Earbuds and Microphone Black	China	24	8	192	1.50	288.00
4175	Over The Door Hanger Blue	China	48	21	1,008	1.20	1,209.60
7927	Over the Door Rack 6 Hook	China	36	42	1,512	1.50	2,268.00
7930	Ironing Board Cover and Pad	China	4	60	240	2.00	480.00
S39444	Heritage Fruit Bowl Galvanized	China	6	60	360	2.50	900.00
7888	Plastic Cutlery 30 Pack	China	24	75	1,800	0.50	900.00
EC34SSBG	Collapsible Eco Soup and Salad Bowl Green	China	48	8	384	2.00	768.00
EC34SSBO	Collapsible Eco Soup and Salad Bowl Orange	China	48	6	288	2.00	576.00
50897	4" Fillet Knife and Sharpener	China	24	3	72	4.00	288.00



Value Merchandise International

Industry Leader in Closeouts!

15						
- 8	10	11	-		0	0
- 8		v	0		٤.	C
		•	-	в	-	ALC: NO

Page 2 of 2 Date 9/10/2018 Invoice # INV28800

Value Merchandise International 13100 12th Ave N, Suite C Plymouth MN 55441 United States 763-450-1700

10000 m	a la serie di scienzi di	©)tệ(h	(Ç∥P	C#60 @	Escolues	Pride	Amount
KT03045A	30 Inch Sport Duffel Asst 2	China	4	21	84	7.00	588.00
KT03054G	21 Inch Rolling Backpack	China	2	24	48	12.00	576.00
WMA90022001	Multi Pocket Sports Duffel Black	China	3	28	84	5.00	420.00
E5021	Elmers School Glue Stick 3 Count	China	48	7	336	1.00	336.00
72763	Cat Toy Big Eyes Wobbler Interactive 4 Assorted Colors	China	6	40	240	2.25	540.00
7051	Zoink! Dog Toy Fetch 'N Go Extreme Ball 2.5 In 2 Ct	China	12	10	120	1.00	120.00
7064	Zoink! Throw 'N Glow Ball 3.25 In	China	12	10	120	1.00	120.00
752356819408	Crumby Mini Vacuum As Seen On Tv Smiley Emoji	China	6	14	84	2.25	189.00
752356819415	Crumby Mini Vacuum As Seen On Tv Heart Eyes Emoji	China	6	14	84	2.25	189.00
752356819644	Crumby Mini Vacuum As Seen On Tv Poop Emoji	China	6	30	180	2.25	405.00
1069	6Pc Ss Meas Spns Rect	China	144	1	144	2.50	360.00
4839	S4 Meas Cup Colr Hndl	China	72	2	144	3.75	540.00
6074	Nylon Turner Tongs	China	12	16	192	1.60	307.20
12RR	Fruit Basket Meranda with Banana Hook	China	8	23	184	5.00	920.00
752356819422	Crumby Mini Vacuum As Seen On Tv Winkey Emoji	China	6	14	84	2.25	189.00
					C years are a factor of the		
				A Providence and a second s	in the second		
				an and an and a second s			
				And a second s			
				sadawee start of			
						COMM AND ADDRESS OF A DOMESTIC	1.0000000-00-00-00-00-00-00-00-00-00-00-0
Thank you for you	r business.						



Value Merchandise

Industry Leader in Closeouts!

Value Merchandise International 13100 12th Ave N, Suite C Plymouth MN 55441 United States 763-450-1700

> Bill To Hobo Warehouse Accts. Paya... 2650 Belvidere Rd Waukegan IL 60085 United States

Ship To Hobo #47 7557 S. 78th Ave. Bridgeview IL 60455 United States Invoice

Date	9/10/2018
Invoice #	INV28801
PO #	n000022064
Created From	Sales Order #SO7001
Terms	N30
Freight Terms	FOB
Due Date	10/10/2018
Ship Date	9/10/2018
VMI Shipping Carrier	Schneider
Sales Rep	Jay Chawla

		Octota	C/P	Case Q	Enchos	Price	Ameunt
1M0040W025	Shower Curtain 70 x 72 Black	China	3	120	360	2.00	720.00
1M0040W025	Shower Curtain 70 x 72 Brown	China	3	80	240	2.00	480.00
28283	8" Metal Wall Clock	China	4	42	168	3.00	504.00
87389	10" Antique Wall Clock	China	2	90	180	6.00	1,080.00
76048CLEA	Lantern Clear LG Silver Handle	China	6	14	84	4.50	378.00
76048NAVY	Lantern Navy LG Silver Handle	China	6	7	42	4.50	189.00
76068CLEA	Lantern Clear Oval Medium Metal Handle	China	6	14	84	4.50	378.00
76068NAVY	Lantern Navy MED Metal Handle	China	6	7	42	4.50	189.00
76056CLEA	Lantern Clear MED Checkered Silver Handle	China	6	14	84	4.50	378.00
76056NAVY	Lantern Navy MED Checkered Silver Handle	China	6	7	42	4.50	189.00
16761	Allen + Roth Beveled Mirror 32 x 37.6 In Retangle Champagne	China	2	72	144	18.00	2,592.00
49750	Allen + Roth Mirror 30 Inch Round Wavy Frame Bronze Finish	China	3	48	144	14.00	2,016.00
						na di si dal	
				Manual And Parcella			
				estative execution			
					the second second	a province state of the second	
					francisk, stadione		
			rive sets	er son en so			
			and here and the second		6 w. V.e. et aug		
an state of the st		1		i Tin di Nice A			
					and a set of second		
hank you for you	r business.					ni de rejective de la julio de la compañía.	

Thank you for your business. # of cases: 515 # of pallets: 10

Total

\$9,093.00

	ite	• // *12394/M/1628/	SEL	10 -	ر ، ب	B	ILL C	DFL	ADIN	G							age 12 of 13 JG MJ Date
	11 F - 1899 - 1999 - 19				HIP FROM	M					l of L	ading	Number:	SO	5825, SC	6981	& SO7001
Value Merchandise 13100 12th Ave N., Suite C Plymouth, MN 55441 SID No.: 763-450-1700 SHIP TO Hobo Warehouse									alle	P# 3	38	080					
								S	Sal V	19/5	12	0898					
					Carr	ier Na	ame.	Schnei			17.477 (M. 1999)						
					Hobo Wa 7557 S 7								Senner	uci			
					idgeview					1	er num I numi		•				
CID	No:			Bi	ageview		155			Joena	mum	Der(s)	•				
	* ************************************	TH	IRD F	PARTY FF	REIGHT CH	IARGE	S BILL	то		SCA	C:		a da da arang da garang da ang galang sa ang gang	and the second states		nong (dalam) mojato(ji 1944)	an a
										Pro N	lumbe	r:					
														José	- Area	Γ	
pec	ial Ins	tructi	ions:	and a second	anan alama kataran katarah	an in 1975 a damin af faan in 2015 A	A N Paral 2 N Y Para Anna 2 No	ventre and an ended when	anna anns a' suis an anns an ann an a' suis	Freid	ht Ch	arge	Terms (Fre	ight ch	ardes are pr	nu biene	less marked otherwise):
											,	ſ	Prepaid	X	Collect		3rd party
				1947 1						D M-	actor k	vill of I					
					1			CUSTO	OMER ORI				ading with a	LLACHE	u underly	ing bills	s or lading.
ust	omer C	rder	No.			# ~	f Package	T		1	allet/S		T				
						# 0		es	Weight	(ci	ircle o	ne)	Additional Shipper Informatio			er Information	
PO			22017				162		1742	Y		N	4	Palle	ets	22	
PO			21945				903		10860	Y		N	18	Palle	ets		
PO		0002	22064	ŀ			515		9198	Y		N		Palle			
PO PO										Y		N		Palle			
PO										Y		N N		Pallets Pallets			
PO										Y		N		Pallets			
PO	#									Ŷ		N		Palle			
rand	Total	al 1580				1580		21800	32 Pallets (2 pallets top loaded)					op loaded)			
	986 Base 74 La gl, 1991 Have					****		C	ARRIER I	NFOR	MATI	ON				• .	
	ling Ur	it	Pack	age	ماند مدر بر العديم ومدر العالي من العالي المراجع المراجع المراجع المراجع المراجع المراجع المراجع المراجع المراجع												LTL Only
ty	Тур	e	Qty	Туре	Weight	НМ	1		Descriptio		11 / A	an , in a first of films.			NMFC No		Class
	and the second second	a second a		1. p. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.		(X)	Commodit stowing m	ties requir nust be so	ing special or a marked and p	additiona ackaged	l care o as to e	r attenti nsure sa	ion in handling o ife transportatio	or n with			
- 1.							ordinary c	are. See S	Section 2(e) of							manuf of Spinstration	
2	PALLET	15	580	BOX	21800		Novel	Ities									70
		ALL CONTRACTOR NAME		and constraints to					D	0		OT	BR	FA	KS	KTI	DS
			an an an ann an Anna an Anna an Anna	Contract of the lower of the lo				na muunumuu ja									
	an lande des houses have a fac					-			FL				ES V	盟』			FL W
2	PALLET	5 1	1580	BOXES	21800				*****		eren a anena Joan		and definition and a state of the set of the				
ere th	e rate is d	epende	ent on val	ue, shippers	are required to	state spe	ecifically in		COD 4	A ma a]			
ting th	e agreed	or decla	ared valu	e of the prop	erty as follows: shipper to be	: "The ag	reed or dec	lared	COD	amour	10:5						
No. of Concession, Name	A.P. (1994)5-04. (Made	per	an marine we stand wa		AMAGENTAR, 1977) - Internation system and and a data	an managing Canadana Magamalan	an din tang ang juan ing liyan juga juga j		Fee ter				Prepaid 🗆			-	
	l	Note:	Liabi	lity limita	ation for l	oss or	damage	e in thi	s shipme	nt may	y be a	applic	able. See 4	19 US	C § 1470	6(c)(1)(A) and (B).
eived,	subject to	ndividua	ally deterr	nined rates or	contracts that h	ave been	agreed	The ca	rrier shall no	t make	deliver	v of th	is chipment w	vithout	naumont of	charges	s and all other lawful fees.
sificatio	ins, and ru	les that	have bee	n established l	oplicable, otherw by the carrier an	d are avai	rates, lable to the				Genver	yoru	is shipment w	nthout	payment or	cnarges	; and all other lawful fees.
here and we shape	*****			M.A	ederal regulation	Andrew Company of the second		Shipp	er Signat	ure							
-	r Sign	ature	e/Date	11	Loade			Freig	ht Counte	d:		Carri	er Signatu	re/Pi	ckup Dat	e	
a	ngil	PR	owl	-1	⊠ By s	shipper			shipper			5	Ses		Fio V	nues	2/
is to c erly cla	ertify that i ssified. pa	he abov ckaged	e named marked	materials are and labeled, a	D By o	driver		C By contai	driver/palle	ets said	1	Carrier a	acknowledges re	eceipt of	packages an	d required	d placards. Carrier certifies
n prop		for trai	nsportatio	in according to					/ driver/pie	COF	1	emerger	ncy response gu	idebook	or equivalent	t documer	and/or carrier has the DOT ntation in the vehicle. Property
-anie i		- UICL			÷.			I EI DI	unver/ple	LES		describe	ed above is rece	ived in o	and order a	cont ac n	,,

٤

CaseStack, Inc. 3000 Ocean Park Blvd Suite 1000 Santa Monica, CA 90405 310.473.8885

10/5/2018	Invoice #15101
HOBO: Home Owners Bargain Outlet	Notes
55347	

ID	Product	Qty	Price	Total
	Shipping 29540-135880	1	\$822.50	\$822.50
	HOBO: Home Owners Bargain Outlet	1		\$0.00

5035 Frist

	Subtotal	822.50
VISA	Sales Tax	0.00
XXXX XXXX XXXX 4782	Shipping	0.00
2SG44663JD4304312	Handling	0.00
	Discounts	0.00
X	Grand Total	\$822.50

,

Northern District of Illinois Claims Register

18-30039 Morgan Administration, Inc.

Honorable Judge: Jacqueline P. Cox

Office: Chicago

13100 12th Avenue

Plymouth MN 55441

Chapter: 11 Last Date to file claims: Last Date to file (Govt):

Trustee: Creditor:

(27197489) History Claim No: 13 Value Merchandise International **Original** Filed Wendall Westberg Date: 11/05/2018

Status: Filed by: CR Entered by: Kevin Lyons Modified:

Amount claimed: \$107011.90

History:

Details 13-1 11/05/2018 Claim #13 filed by Value Merchandise International, Amount claimed: \$107011.90 (Lyons, Kevin)

Original Entered Date: 11/05/2018

Description:

Remarks:

Claims Register Summary

Case Name: Morgan Administration, Inc. **Case Number: 18-30039** Chapter: 11 Date Filed: 10/25/2018 **Total Number Of Claims:** 1

Total Amount Claimed* \$107011.90

Total Amount Allowed*

*Includes general unsecured claims

The values are reflective of the data entered. Always refer to claim documents for actual amounts.

	Claimed	Allowed
Secured		
Priority		
Administrative		